Angle Relationships Review Focus: (Schmidt)

Part 1:
1. Which set of angles form a linear pair?
<l ond <2, <aoneey, ¢qmd<3
< 3 ondcl 2\ 3
2, Which set of angles form vertical angles?
LlBed ond<c2x2,3
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Directions for part 2: find the value of the missing variable and the missing angle(s) if indicated. Show your geometry and justification.
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Part 3: Writing in Mathematics.

13. An angle is 70° smaller than its supplement. Find the two angles.
X + X-10=180  Ax=aso 135" ond_55°|
Qx == 180 X= 135 -
14. An angle exceeds its complement by 2°.[Find the angle—.l “— Hot exend$
X + X+L=90  *X¥=5§¢
Ax +2290 X =4
15. Find an angle that is twice its complement,

X+ ax =90 X=30°
3x=190

16. An angle is 33° less than one-half its supplement. Find the angle.
XW,__ ol Ji)(-ga = | 80 X =14 R——
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17. Find an angle that is 30° less than twice its supplement. o
X + Qx-30=1%0 S ¥Z221D al N{(‘)C ' )
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18. What is the supplement of the complement of 53°7

¥+53 =90 _Y_ +37=[§0 o
X=3" This is #he
19. Write and simplify an expression for the supplement of XB, if mxB = (5n+6)°.
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Part 4: Angle Addition and Angle Bisectors.

1. Find x and the mLﬁAD if mszSAD = 135°, m£SAN = 3x + 1,and m«DAN = 2x — 6.
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2. Find x and the m£SAD if m2SAD = 94°,msSAN = 3x + 15, and mzDAN = x + 7.
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3. Find x and the m4SAD if m£SAD = 16x — 2, m£SAN = 9x — 7,and m«<DAN = 3x + 17.
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4. Solve for x and find m#AGCF
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5. Find x and the mzKAS if AS bisects LKAT, msSAT = 5x + 13 and m2KAT = 15x — 6.
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6. In the diagram, RQ bisects 2 PRS. The
measures of the two congruent angles
are (x + 40)° and (3x — 20)°. Solve for x.
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7. BD bisects 2 ABC. Find the value of x. Geometry: Justification:
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8. If mgFGE =5x+10 and FC L AE, find x.
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Part 5: Parallels cut by transversals. Geometry:
1. mZ1=3x-17° and m£2 = x + 1°. Find x. L\ =/ 2
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Directions: Find x.
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